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\ ﬂgqcstign Paper Specific Instructions
Please read eac{l gf‘th% fé!?mﬁiné instructions carefully before attempting questions :
There, Fre’:EI.GHR% :.}s!ions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH..\ = _
Candidate has to attempt FIVE questions in all.

Question nos. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Graphs lillustrations, wherever required, may be drawn/given in the space provided for answering
the question itself.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question

shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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WUE A
SECTION A

Q1. Fr=feriya wdlie vy = 3wt vram 150 vt & it :

Answer the following questions in about 150 words each : 10x5=50
(a) UHHUSRTHS Sfadifar & f=mia wwnfeq grn yRofRa sifofes amen &
famm it waw 4 =rEn fif |

Explain briefly Chamberlin’s concept of excess capacity in monopolistic

competition. 10

(b) m%mmm%mmwwmﬁwml

Discuss the concept of ‘liquidity trap’ in the liquidity preference mivdel of\
interest. &

@ T e e g mmgaawaa“aﬁp\mmm
a2 \l 4

t
In demand for mé’?ley what are the major differences between

‘transact!omproach and ‘cash balance approach’ ? 10
\
(@C@Qﬁqﬁﬁm TUT BV ST & YR W AR F GO G
fagra & =i hift |
Discuss the Factor Endowment theory of trade in terms of ‘abundance in
factor prices’ and ‘factor abundance’. 10

(@) T ¥ Igun, wgfen fegm Gonfors sufem ¢t (SOC) o Swim
Ieares fnadi (DPAY & wem & R s wan 2 | ==t 6iftng |

According to Hirschman, unbalanced growth can be through ‘Social

Overhead Capital (SOCY or ‘Direct Productive Activities (DPAY.

Discuss. 10
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Q2. (2) U gl (gaieh) e 7,
P=100-2Q,MC=10 3N Q=q, +q,

el P : &SR 74
Q : F IR/ Al % IeAEA H FA 40T
q, T q, : ¥om & e gl o 1 s Seam
MC : ¥ aFra
WM ST wom o SR 3§ Sge S @ o fgde o see sga sl R )

T YN B 9 Ianed frvifa wedt R e fdfe o o san
FfTea #edt & | 1 BH 1 Hger IIEH, Ied a1 @Y Wi ST |

Consider a duopoly market,
P=100-2Q,MC=10and Q=gq, +q, \“
where P : Market price “

Q : Total output or the sum ttgl vof both firms’ output
&0, Fu'mx l.,and @ 2's.output respectwely

i\ MC Margma cost
((‘ \

an 1 1s the market leader and Firm 2 is the follower.
\( Flrm 1 decides its output first and then Firm 2 takes its output decision.
Find equilibrium output, price and profit of both the firms. 20

(b) IR M i g anEfE w, aﬁwa&@mmmm
BT ? I IR h =rE A |

Do you think Firm 1 would have had the first mover advantage if it had
gone for the price adjustment ? Explain your answer. 15

()  wiceadT wger Rt Frer i Wi EH1 3 | RN M TeH £ 2 A9 I H
e = wnfi Hift |

A competitive equilibrium is both Pareto efficient and equitable. Do you
agree ? Justify your answer. 15
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Q3. (a)
(b)
(c)
Q4.. (a)

\C@

IS 95 avg AR % Hger fagalt & figuu 3 | IS @6 % Iw aw A F
ferg =rm it & 2

IS curve is the locus of equilibrium points in the commodity market.
What do the points above and below the IS curve signify ? 15

St T i gE go ok @ i | e ok Sfe FE F uwt swim W
T3 T W1 IS TN TSaT B ? 3T I offaey @1 wenfim Hifv |

Compare the deposit multiplier with the money multiplier. Is there any
impact on the money multiplier arising out of massive use of credit and
debit cards ? Justify your answer. 15

o Gt fefern @@ T fafe @ wfee @el sfemmen # A A A
mﬁamﬁﬁ%wﬁﬁqwﬁmﬁuﬁﬂmﬁaﬁar&ﬁm%n
fafma 2 3 ot 38 Hifs mmaweh @t 2 sren $if |

Discuss the effectiveness of the monetary policy in an open eco\noiny
with flexible exchange rate and perfect capital mobility. \}hll this pol:cy

remain effective with fixed exchange rate, also, while \xother th:nga
remain the same ? Explain. \ b 20

v % fagri = Iy m&%%mtﬁtmmﬂmﬁ
3 I mﬁmm%zﬁgﬂmmomm%mﬁ

Wﬁ“@@b \q

f‘itatc\the\wnons of taxation. Do you think that direct taxes are less
burdensomc than indirect taxes in generating equal amount of tax
revenue ? Justify your answer. 20

(b) Wi e — o (AfR) Tw, ® AR wm T afls i
AR |
Give economic rationale for public expenditure on elementary education
— a merit good. - 15
(o) sfifsa qen Hrdra sredi 3 T sl w6 @ F aTER A ? fara =
i |
What will be the shape of the aggregate supply curve in the Classical
and Keynesian models ? Give detailed explanation. _ 15
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wE B
SECTION B

Q5. Preferfym wals wea =1 3w v 150 et | dif
Answer the following questions in about 160 words each : 10x5=50

(a) frar % Fest w9 i @ TS H T W g g fife B ade
A # T w1 e g I § e &% e w R s @
Stating major assumptions in the Kaldor model of disbribution,

establish that share of profits in national income depends on the ratio of
investment to total output. 10

(b) UH FEE F gr W@ e ¥g e wRemmenss faftmt i samemn

$iftr | ° \
Explain the quantitative methods of credit cuntrol adopted by\thg\

central bank. 10
-\ oW

© it dqen A % sl T \as"f" R TR P

it | X (\
Under Partxal “eqr{ullhn

brium” analysis, discuss the consumption and
revenue eff'ects of' tarxffs 10

A0
(}dﬁ\@m%aﬁmq&mﬁmaﬁwﬁm&ﬁﬁmwm
B g |

Show that in Domar’s growth medel, in equilibrium, path of investment
is exponential. 10

(e) Teltwrofia FaEl & T o waR AU WiF YN ¥ Hew IR & IR
Il |k =t fifie | 731 39 A1 danE § A v B IqeeyE vy 6
fifd & i F fow w0 D wd R 2 o IW F oifuw H cafa
Hfdm |

With appropriate examples, discuss the difference between the flow and
the stock concept of renewable resources. Can the availability of one of

these two resources be less for the consumption of future generations ?
Justify your answer. : 10
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Q6. (a) wufda wafg = & s = T € 2 ¥z & s Hafy wew § gh-ur
IEge 6 T 6 |grem i |

What do you mean by the warranted rate of growth ? Explain the knife
edge instability problem in Harrod's growth model. 15

(b) MR G3W gR GH WY F A=ria oW K el i  wiel @ aftra
35T HIfT 7o U ey fosfia an & srfa el arferara & fRwm ¥
fornfaft wmzms |

Following Arthur Lewis, briefly state the sources of unlimited supply of
labour and explain the mechanism of development of a dual economy of
a less developed country. 20

() fom o g=sis (GDI) W@ & qufive 79 (GEM) § araaat qn Bmfor
% IR W IF=1ig Hifv |

Distinguish between Gender Development Index (GDI) and Gender
Empowerment Measure (GEM) in terms of their components\aﬁc’i\;\
15

constructions. =
* 9 ﬁ\(\ w
Q7. (a) wﬂmﬁﬁq%wﬁwﬁ%mimmﬁmﬁmmﬁ

TS A 1 fagra == S 2 il" t\\ %
. = Y\
Examine whether in Ricard/?a\‘qvizlodel, the theory of comparative

advantage actua‘}\\]\yl} Héc@ﬂfgs}?‘g“do&tﬁne of comparative costs. 15
T 'Q‘- =N ff:.\.‘,l k- i -
I ST &Y ) =i =amor A 3iftha (TRmer) o et 2 & me

(b) AT
A\"iﬁﬁgﬁﬁl\um?ﬁﬁm
(’ O\ " s g § % i e 40% 2,
* I i 8 Wb o 40% B,
o mmimm%m,ja@ﬁgﬁmmwo-m%l
?itmﬁmaﬁztmﬁuhmﬁﬁqwsamﬁﬁmﬁﬁaﬁm(ﬁﬁm)
WY X T Hawr < sy ot v § |

Distinguish between nominal and effective rates of protection in
Standard Trade Model. Suppose

* nominal tariff on imported good j is 40%,
~ * tariff rate on input i is 40%,
* cost sharg of imported input i in the total cost of production of
commodity j is 0-5%.
- Determine the effective rate of protection and show that in this case
nominal tariff rate is equal to the effective rate of protection. 20
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(c)

Q8. (a)

(b)

(c)

(29

e wEdl gra wfewen simmsfim My’ & fugra 6 = men it |

Illustrate Jagdish Bhagwati’s doctrine of ‘Immiserising Growth’.

=R i few R A Oy e (siere) & w9 e | @ o
a2 T fawraefiar o & e anfifs weam = 9gr § i gwa @
2 ? 39 IW & e %1 vl fifsw |

State the functions of United Nations Conference on Trade and
Development (UNCTAD). Do you think that UNCTAD has been

successful in extending economic cooperation among the developing
countries ? Justify your answer.

forprerefic <o i weww i ©F 33 M @ R B @i g g
& fo Ffle w0 € ot 8 cremm w1 @ v @ € 2 @ W 6 fEw
faftr & waftm Fa-n wwamd § 2

Why do developing countries rely on specifying a permissible levél of
pollution and impose it uniformly across all polluting umts‘:af the sa&ne
kind ? What are the problems assoc:ated with s'hch a\\cm{tll;ol method ?

COP (%138 i Wi 26 4 Jen Ehmmri'ﬂr%'?

What are the major | achlevem’f:;\ltsxand failures of COP (Conference of
Parties) 26 ?

adned™
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